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ECONOMICS
[ Honours]
PAPER — VI

Full Marks : 90

Time : 4 hours

The figures in the right hand margin indicate marks

Candidates are required to give their answers in their
own words as far as practicable

lllustrate the answers wherever necessary

[ FIRSTHALF]
GROUP - A
Answer any fwo questions : Ox%x2

1. Critically discuss the evolution of international
trade theories, starting from absolute cost advantage
to the Heckscher-Ohlim thoery. State the
refinements made by each of the theones over its
predecessors. 9
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(2)

(/) State and prove the factor-price equalisation
theorem. ’

(ii) What happens if there is complete
specialization in one or both countries ? 6 + 3

Explain  the eIasticity and absorption
approaches to the Balance of payment
problems. 9

(/) Evaluate briefly the role of the WTO in
" promoting trade between the countries.

(ii) Do you think that the regulations of the
WTO are detrimental to the interests of the

developing countries ? 6+3
GROUP - B
Answer any three questions : 6x3

State and explain the Stolper-Samuelson theorem. 6

Using a General equilibrium framework, show
that imposition of tariff by a small country
causes a reduction in welfare. 6
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(3)

7. (i) Differentiate between devaluation and
depreciation.

(é7) Write in brief, some advantages and
disadvantages of devaluation. 2+4

8. (i) Define tariff and quota.

(if) When does a tariff and a quota become
equivalent ? 2+4

9. -Briefly explain the system of International
Gold Standard. 6

10. Write a short note on the functions of the IMF. 6

GROUP - C

Answer any three questions : 3x3

11. Differentiate between nominal and real exchange
rates. 3

12. What are trade indifference curves and what
are its properties ? 3

13. What is Leontief paradox ? 3
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14. Show, in a small-country framework, how the
dead-weight loss arises due to the imposition

of a tariff. 3
15. What is optimum tariff ? 3

16. What do you mean by effective rate of
protection ? 3
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GROUP - A
Answer any (wo questions : 9x2

17. Compare the necessary conditions for optimum
allocation of resources between the following

two cases : () Only private goods are produced
(ii) public goods are produced along-with the
private goods. _ 9

18. (i) Does the benefit principle maximize
social welfare ? Explain.
(i) What are the major shortcommgs of the
benefit prmc1ple ? ‘ 6+3
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19.

20.

21.

22,

( 8)

(i) "Internal public debt is a debt which we
owe to ourselves.” Explain this statement.

(i7) What do you mean by sustainability of
public debt ?

(iif)Under what conditions is external debt
sustainable ? Explain. 3+3+3

Explain the role of the Government in the
present globalized as well as liberalized

‘era. 9

GROUP — B
Answer any three questions : 6x3
(7} Differentiate between Revenue a/c and

Capital a/c of government budget. Give
examples.

(i7) What do you mean by Plan and Non-Plan
expenditures ? 4+2

What are the major features of a good tax
system ? 6
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23. What are the different interpretations of equal
sacrifice rule 7 : . 6

24. Why does a lump sum tax not involve excess
burden in the context of the labour-leisure
choice of an individual ? Explain. 6

25. Is a monopolist able to shift the- entire burden
of a tax imposed on his sales or production on

to the buyers ? Explain. 6

26. Differentiate between revenue deficit, fiscal

deficit and primary deficit. 6
GROUP -C
Answer any three questions : Ix3

27. Distinguish between VAT, Excise duty and Custom

duty. 3

'28. State some advantages of direct tax over indirect
1ax. 3
29. What is the free-rider problem ? 3
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30. What is excess burden of taxation ? 3

31. Differentiate between merit good and public
good. 3

32. What are the major sources of Central
Government's tax revenue ? , 3
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